Nonlinear Functional Analysis and Applications Vol. 12, No. 2 (2007), pp. 263-271

http://nfaa.kyungnam.ac.kr/jour-nfaa.htm Copyright © 2007 Kyungnam University Press

STRONG CONVERGENCE OF CQ ITERATION FOR ASYMPTOTICALLY NONEXPANSIVE SEMIGROUPS

Yongfu Su¹, Aixia Lu² and Meijuan Shang³

^{1,2,3}Department of Mathematics, Tianjin Polytechnic University, Tianjin,300160, P.R. China e-mail: suyongfu@gmail.com

Abstract. Kim and Xu proved the strong convergence theorems of modified Mann iterations for asymptotically nonexpansive mappings and semigroups on bounded closed convex subset C of a Hilbert space H by the CQ iteration method. The purpose of this paper is to modify the CQ iteration scheme of Kim and Xu, and to prove strong convergence theorems for asymptotically nonexpansive semigroups on closed convex subset C of a Hilbert space Hwithout the condition of boundedness of subset C. The convergence rate of iteration process presented in this paper is faster than the iteration process of Kim and Xu. While, in this article, we did not use the demi-closedness principle .

1. INTRODUCTION

Let X be a real Banach space, C a nonempty closed convex subset of X, and $T: C \to C$ a mapping. Recall that T is *nonexpansive* if $||Tx - Ty|| \le ||x - y||$ for all $x, y \in C$, and T is asymptotically nonexpansive [4] if there exists a sequence $\{k_n\} \subset [1, \infty)$ with $\lim_{n\to\infty} k_n = 1$ and such that $||T^nx - T^ny|| \le k_n ||x - y||$ for all integers $n \ge 1$ and $x, y \in C$. A point $x \in C$ is said to be a fixed point of T provided Tx = x. Denote by F(T) the set of fixed points of T, that is, $F(T) = \{x \in C : Tx = x\}$.

Recall also that a one-parameter family $\Im = \{T(t) : t \ge 0\}$ of self-mappings of a nonempty closed convex subset C of a Hilbert space H is said to be a (continuous) Lipschitzian semigroup on C(see,[16]) if the following conditions are satisfied:

 $^{^0\}mathrm{Received}$ March 16, 2006. Revised September 12, 2006.

 $^{^{0}2000}$ Mathematics Subject Classification: 47H05, 47H10.

 $^{^0\}mathrm{Keywords}$: Strong convergence, CQ iteration method, asymptotically nonexpansive semigroup.

(i) $T(0)x = x, x \in C$,

(ii) $T(t+s)x = T(t)T(s)x, t, s \ge 0, x \in C,$

(iii) for each $x \in C$, the map $t \mapsto T(t)x$ is continuous on $[0, \infty)$,

(iv) there exists a bounded measurable function $L(t) : (0, \infty) \to [0, \infty)$ such that, for each t > 0, $||T(t)x - T(t)y|| \le L(t)||x - y||$, $x, y \in C$.

A Lipschitzian semigroup \Im is called nonexpansive if L(t) = 1 for all t > 0, and asymptotically nonexpansive if $\limsup_{t\to\infty} L(t) \le 1$, respectively. We use $F(\Im)$ to denote the common fixed points set of the semigroup \Im , that is $F(\Im) =$ $\{x \in C : T(s)x = x, \forall s > 0\}$. Note that for an asymptotically nonexpansive semigroup \Im , we can always assume that the Lipschitzian constants L(t) are such that $L(t) \ge 1$ for all t > 0, L(t) is nonincreasing in t, and $\lim_{t\to\infty} L(t) = 1$; otherwise we replace L(t), for each t > 0, with $\tilde{L}(t) := \max\{\sup_{s>t} L(s), 1\}$.

Construction of fixed points of nonexpansive mappings (and of common fixed points of nonexpansive semigroups) is an important subject in the theory of nonexpansive mappings and finds application in a number of applied areas, in particular, in image recovery and signal processing (see, [2,9,12,17,18]). However, the sequence $\{T^n x\}_{n=0}^{\infty}$ of iterates of the mapping T at a point $x \in C$ may not converge even in the weak topology. Thus averaged iterations prevail. Indeed, Mann's iterations do have weak convergence. More precisely, a Mann's iteration procedure is a sequence $\{x_n\}$ which is generated in the following recursive way:

$$x_{n+1} = \alpha_n x_n + (1 - \alpha_n) T x_n, \quad n \ge 0,$$
(1.1)

where the initial guess $x_0 \in C$ is chosen arbitrarily. For example, Reich [10] proved that if X is a uniformly convex Banach space with a Fréchet differentiable norm and if $\{\alpha_n\}$ is chosen such that $\sum_{n=1}^{\infty} \alpha_n(1-\alpha_n) = \infty$, then the sequence $\{x_n\}$ defined by (1.1) converges weakly to a fixed point of T. However we note that Mann's iterations have only weak convergence even in a Hilbert space [3].

Attempts to modify the Mann iteration method (1.1) so that strong convergence is guaranteed have recently been made. Nakajo and Takahashi[8] proposed the following modification of Mann iteration method (1.1) for a single nonexpansive mapping T in a Hilbert space H:

$$\begin{cases} x_{0} \in C \ chosen \ arbitrarily, \\ y_{n} = \alpha_{n}x_{n} + (1 - \alpha_{n})Tx_{n}, \\ C_{n} = \{z \in C : \|y_{n} - z\| \leq \|x_{n} - z\|\}, \\ Q_{n} = \{z \in C : \langle x_{n} - z, x_{0} - x_{n} \rangle \geq 0\}, \\ x_{n+1} = P_{C_{n} \cap Q_{n}}(x_{0}) \end{cases}$$
(1.2)

where P_K denotes the metric projection from H onto a closed convex subset K of H.

Nakajo and Takahashi [8] also propose the following iteration process for a nonexpansive semigroup $\Im = \{T(s) : 0 \le s < \infty\}$ in a Hilbert space H:

$$\begin{cases} x_{0} \in C \ chosen \ arbitrarily, \\ y_{n} = \alpha_{n}x_{n} + (1 - \alpha_{n})\frac{1}{t_{n}}\int_{0}^{t_{n}}T(s)x_{n}ds, \\ C_{n} = \{z \in C : \|y_{n} - z\| \leq \|x_{n} - z\|\}, \\ Q_{n} = \{z \in C : \langle x_{n} - z, x_{0} - x_{n} \rangle \geq 0\}, \\ x_{n+1} = P_{C_{n} \cap Q_{n}}(x_{0}) \end{cases}$$
(1.3)

They proved that if the sequence $\{\alpha_n\}$ is bounded above from one and if $\{t_n\}$ is a positive real divergent sequence, then the sequence $\{x_n\}$ generated by (1.2)(resp.(1.3)) converges strongly to $P_{F(T)}x_0$ (resp. $P_{F(\mathfrak{F})}x_0$).

The adaptation of Mann's iteration (1.1) to asymptotically nonexpansive mappings T is given below

$$x_{n+1} = \alpha_n x_n + (1 - \alpha_n) T^n x_n, \quad n \ge 0.$$
(1.4)

Weak convergence of the sequence $\{x_n\}$ generated by (1.4) is proved by Schu [11] (see also, Tan and Xu [15]).

Attempts to modify the Mann iteration method (1.4) so that strong convergence is guaranteed have recently been made. In 2006, Kim and Xu[6] proposed the following modification of the Mann iteration method (1.4) for asymptotically nonexpansive mapping in a Hilbert space H:

$$\begin{cases} x_{0} \in C \ chosen \ arbitrarily, \\ y_{n} = \alpha_{n}x_{n} + (1 - \alpha_{n})T^{n}x_{n}, \\ C_{n} = \{z \in C : \|y_{n} - z\|^{2} \leq \|x_{n} - z\|^{2} + \theta_{n}\}, \\ Q_{n} = \{z \in C : \langle x_{n} - z, x_{0} - x_{n} \rangle \geq 0\}, \\ x_{n+1} = P_{C_{n} \cap Q_{n}}(x_{0}) \end{cases}$$
(1.5)

where C is bounded closed convex subset and $\theta_n = (1 - \alpha_n)(k_n^2 - 1)(diamC)^2 \rightarrow 0$ as $n \rightarrow \infty$.

They also proposed the following modification of the Mann iteration method (1.4) for asymptotically nonexpansive semigroup in a Hilbert space H:

$$\begin{cases} x_{0} \in C \ chosen \ arbitrarily, \\ y_{n} = \alpha_{n}x_{n} + (1 - \alpha_{n})\frac{1}{t_{n}}\int_{0}^{t_{n}}T(s)x_{n}ds, \\ C_{n} = \{z \in C : \|y_{n} - z\|^{2} \leq \|x_{n} - z\|^{2} + \overline{\theta}_{n}\}, \\ Q_{n} = \{z \in C : \langle x_{n} - z, x_{0} - x_{n} \rangle \geq 0\}, \\ x_{n+1} = P_{C_{n} \cap Q_{n}}(x_{0}) \end{cases}$$
(1.6)

where C is bounded closed convex subset and

$$\overline{\theta}_n = (1 - \alpha_n) [(\frac{1}{t_n} \int_0^{t_n} L(u) du)^2 - 1] (diamC)^2 \to 0 \quad as \ n \to \infty.$$

It is purpose of this paper to modify iteration process (1.6) for asymptotically nonexpansive semigroup with nonempty common fixed points set $F(\mathfrak{F})$ on a closed convex subset C in a Hilbert space H:

$$\begin{cases} x_{0} \in C \ chosen \ arbitrarily, \\ y_{n} = \alpha_{n}x_{n} + (1 - \alpha_{n})\frac{1}{t_{n}}\int_{0}^{t_{n}}T(s)x_{n}ds, \\ C_{n} = \{z \in C_{n-1} \bigcap Q_{n-1} : \|y_{n} - z\|^{2} \leq \|x_{n} - z\|^{2} + \overline{\theta}_{n}\}, n \geq 1 \\ C_{0} = \{z \in C : \|y_{0} - z\|^{2} \leq \|x_{0} - z\|^{2} + \widetilde{\theta}_{0}\}, \\ Q_{n} = \{z \in C_{n-1} \bigcap Q_{n-1} : \langle x_{n} - z, x_{0} - x_{n} \rangle \geq 0\}, n \geq 1 \\ Q_{0} = C \\ x_{n+1} = P_{C_{n} \cap Q_{n}}(x_{0}) \end{cases}$$
(1.7)

where

$$\overline{\theta}_n = (1 - \alpha_n) \left[\left(\frac{1}{t_n} \int_0^{t_n} L(u) du \right)^2 - 1 \right] \left(\sup_{x \in A} \|x_n - x\| \right)^2$$

and

$$A = \{ y \in F(T) : ||y - p_0|| \le 1 \}, \ p_0 = P_{F(T)}(x_0)$$

We shall prove that iteration process (1.7) converges strongly to $P_{F(\mathfrak{F})}(x_0)$ provided the sequence $\{\alpha_n\}$ is bounded from above one.

2. Main result

In 2006, Kim and Xu proved the following theorem.

Theorem 2.1.([6]) Let C be a nonempty bounded closed convex subset of a Hilbert space H and let $\mathfrak{F} = \{T(t) : 0 \leq t < \infty\}$ be an asymptotically nonexpansive semigroup on C. Assume that $\{\alpha_n\}$ is a sequences in (0,1) such that $\alpha_n \leq a$, for all n and for some 0 < a < 1 and $\{t_n\}$ is a positive real divergent sequence. Define a sequence $\{x_n\}$ in C by the algorithm (1.6). Then $\{x_n\}$ converges strongly to $P_{F(\mathfrak{F})}(x_0)$.

In order to prove our strong convergence theorem, we will use the following lemma which is given by Kim and Xu in [6].

Lemma 2.2. Let C be a nonempty bounded closed convex subset of a Hilbert space H and $\Im = \{T(t) : 0 \le t < \infty\}$ be an asymptotically nonexpansive semigroup on C. Then it holds that

convergence of CQ iteration for asymptotically nonexpansive semigroups

$$\limsup_{s \to \infty} \limsup_{t \to \infty} \sup_{x \in C} \left\| \frac{1}{t} \int_0^t T(u) x du - T(s) \left(\frac{1}{t} \int_0^t T(u) x du \right) \right\| = 0.$$

The main result of this paper is following.

Theorem 2.3. Let $\Im = \{T(t) : 0 \le t < \infty\}$ be an asymptotically nonexpansive semigroup with nonempty common fixed points set $F(\Im)$ defined on a closed convex subset C of a Hilbert space H. Assume that $\{\alpha_n\}$ is a sequences in [0,1] such that $\alpha_n \le a$, for all n and for some $a \in (0,1)$. Define a sequence $\{x_n\}$ in C by the algorithm (1.7). Then $\{x_n\}$ converges strongly to $P_{F(\Im)}(x_0)$.

Proof. We observe that C_n is convex for all $n \ge 0$. Indeed, the defining inequality in C_n is equivalent to the following inequality

$$\langle 2(x_n - y_n), z \rangle \le ||x_n||^2 - ||y_n||^2 + \theta_n$$

which is affine (and hence convex) in z.

In addition, it is obvious that Q_n is also convex for all $n \ge 0$ while

 $A = \{ y \in F(\Im) : \|y - p_0\| \le 1 \},\$

is bounded closed convex subset of H, where $p_0 = P_{F(T)}(x_0)$.

Now, we show that $A \subset C_n$ for all n. Indeed, for any $p \in A$ we have

$$\begin{split} \|y_n - p\|^2 &= \|\alpha_n x_n + (1 - \alpha_n) \frac{1}{t_n} \int_0^{t_n} T(u) x_n du - p\|^2 \\ &\leq \alpha_n \|x_n - p\|^2 + (1 - \alpha_n) \|\frac{1}{t_n} \int_0^{t_n} T(u) x_n du - p\|^2 \\ &\leq \alpha_n \|x_n - p\|^2 + (1 - \alpha_n) (\frac{1}{t_n} \int_0^{t_n} \|T(u) x_n - p\| du)^2 \\ &\leq \alpha_n \|x_n - p\|^2 + (1 - \alpha_n) (\frac{1}{t_n} \int_0^{t_n} L(u) du)^2 \|x_n - p\|^2 \\ &\leq \|x_n - p\|^2 + (1 - \alpha_n) [(\frac{1}{t_n} \int_0^{t_n} L(u) du)^2 - 1] \|x_n - p\|^2 \\ &\leq \|x_n - p\|^2 + (1 - \alpha_n) [(\frac{1}{t_n} \int_0^{t_n} L(u) du)^2 - 1] (\max_{x \in A} \|x_n - x\|)^2 \\ &\leq \|x_n - p\|^2 + \tilde{\theta_n}, \end{split}$$

so that $p \in C_n$ for all $n \ge 0$, that is, we have proved the $A \subset C_n$ for all $n \ge 0$. Next we show that $A \subset C_n \bigcap Q_n$, for all $n \ge 0$. It suffices to show that $A \subset Q_n$, for all $n \ge 0$. We prove this by induction. For n = 0, we have

 $A \subset F(T) \subset Q_0$. Assume that $A \subset Q_n$. Since x_{n+1} is the projection of x_0 onto $C_n \cap Q_n$, we have

$$\langle x_{n+1} - z, x_0 - x_{n+1} \rangle \ge 0, \quad \forall z \in Q_n \cap C_n,$$

as $A \subset C_n \cap Q_n$, the last inequality holds, in particular, for all $z \in A$. This together with the definition of Q_{n+1} implies that $A \subset Q_{n+1}$. Hence the $A \subset C_n \cap Q_n$ holds for all n.

By the definition of Q_n , we know that Q_n is convex and $x_n \in Q_n$ so that $x_n = P_{Q_n}(x_0)$ which together with the fact that $x_{n+1} \in C_n \bigcap Q_n \subset Q_n$ implies that

$$||x_0 - x_n|| \le ||x_0 - x_{n+1}||.$$
(2.1)

This shows that the sequence $\{||x_n - x_0||\}$ is increasing.

Now, we show that $\{x_n\}$ is bounded sequence. Indeed, since $A \subset Q_n, n \ge 0$, then for any $z \in A$, we have $\langle x_n - z, x_0 - x_n \rangle \ge 0$ which implies that

$$||x_0 - z||^2 = ||x_n - z + x_0 - x_n||^2$$

= $||x_n - z||^2 + ||x_0 - x_n||^2 + 2\langle x_n - z, x_0 - x_n \rangle$
 $\geq ||x_n - z||^2 + ||x_0 - x_n||^2.$ (2.2)

It follows from above inequality (2.2) that $\{x_n\}$ is bounded which together with the inequality (2.1) implies that $\lim_{n\to\infty} ||x_n - x_0||$ exists.

Noticing again that $x_n = P_{Q_n}(x_0)$ and for any positive integer m we have $x_{n+m} \in Q_{n+m-1} \subset Q_n$ which implies that $\langle x_{n+m} - x_n, x_n - x_0 \rangle \ge 0$, and noticing the identity

$$||u - v||^{2} = ||u||^{2} - ||v||^{2} - 2\langle u - v, v \rangle, \quad \forall u, v \in H,$$

we have

$$\begin{aligned} \|x_{n+m} - x_n\|^2 &= \|(x_{n+m} - x_0) - (x_n - x_0)\|^2 \\ &\leq \|x_{n+m} - x_0\|^2 - \|x_n - x_0\|^2 - 2\langle x_{n+m} - x_n, x_n - x_0 \rangle \\ &\leq \|x_{n+m} - x_0\|^2 - \|x_n - x_0\|^2 \to 0, \ n \to \infty. \end{aligned}$$
(2.3)

From result (2.3) we known that $\{x_n\}$ is a Cauchy sequence in C, so that there exists a point $p \in C$ such that $\lim_{n\to\infty} x_n = p$

Now, we prove that $\lim_{n\to\infty} ||T(s)x_n - x_n|| \to 0$ for all $0 \le s < \infty$, indeed,

$$\begin{aligned} \|T(s)x_n - x_n\| &\leq \|T(s)x_n - T(s)(\frac{1}{t_n} \int_0^{t_n} T(u)x_n du))\| \\ &+ \|T(s)(\frac{1}{t_n} \int_0^{t_n} T(u)x_n du)) - \frac{1}{t_n} \int_0^{t_n} T(u)x_n du)\| \\ &+ \|\frac{1}{t_n} \int_0^{t_n} T(u)x_n du - x_n\| \\ &\leq (L+1)\|\frac{1}{t_n} \int_0^{t_n} T(u)x_n du - x_n\| \\ &+ \|T(s)(\frac{1}{t_n} \int_0^{t_n} T(u)x_n du)) - \frac{1}{t_n} \int_0^{t_n} T(u)x_n du)\| \\ &:= (L+1)A_n + B_n(s). \end{aligned}$$
(2.4)

We claim that

(i)
$$\lim_{n \to \infty} A_n = 0$$
 and (ii) $\limsup_{s \to \infty} \limsup_{n \to \infty} B_n(s) = 0.$ (2.5)

As a matter of fact, that (ii) holds is guaranteed by Lemma 2.2, while (i) is verified by the following argument. By the definition of y_n , we have

$$A_{n} = \|\frac{1}{t_{n}} \int_{0}^{t_{n}} T(u) x_{n} du - x_{n} \|$$

$$= \frac{1}{1 - \alpha_{n}} \|y_{n} - x_{n} \|$$

$$\leq \frac{1}{1 - \alpha_{n}} (\|y_{n} - x_{n+1}\| + \|x_{n+1} - x_{n}\|)$$

$$\leq \frac{1}{1 - a} (\|y_{n} - x_{n+1}\| + \|x_{n+1} - x_{n}\|).$$
(2.6)

Note that the fact $x_{n+1} \in C_n$ implies that

$$||y_n - x_{n+1}|| \le ||x_n - x_{n+1}|| + \overline{\theta}_n.$$

Because $\{x_n\}$ is convergent and $\overline{\theta}_n \to 0$, $\|y_n - x_{n+1}\| \to 0$. Therefore, it follows from (2.6) that $A_n \to 0$, as $n \to \infty$. We thus conclude from (2.4) that

$$\lim_{n \to \infty} \|T(s)x_n - x_n\| = 0, \quad \forall s \in [0, \infty).$$
(2.7)

We have proved that $\{x_n\}$ converges in norm to a point $p \in C$ which together with the (2.7) implies that p is a common fixed point of \Im .

We claim that $p = z_0 = P_{F(T)}(x_0)$, if not, we have that $||x_0 - p|| > ||x_0 - z_0||$. There must exists a positive integer N, if n > N then $||x_0 - x_n|| > ||x_0 - z_0||$ which leads to

$$||z_0 - x_0||^2 = ||z_0 - x_n + x_n - x_0||^2$$

= $||z_0 - x_n||^2 + ||x_n - x_0||^2 + 2\langle z_0 - x_n, x_n - x_0 \rangle.$

It follows that $\langle z_0 - x_n, x_n - x_0 \rangle < 0$ which implies that $z_0 \in Q_n$, so that $z_0 \in F(T)$, this is a contradiction. This completes the proof.

Remark. In this article, we did not use the demi-closedness principle (see [6], Lemma 3.2) for the proof of main theorem. On the other hand, from the definitions of Q_n and C_n , it is easy to see that, Q_n and C_n are monotone decreasing sets, so that the convergence rate of iteration process (1.5) presented in this paper is faster than the iteration process of Kim and Xu [6]. The result of this paper is proved without the condition of boundedness of subset C.

References

- H. Brezis and F. E. Browder, Nonlinear ergodic theorems, Bull. Amer. Math. Soc., 82(1976), 959-961.
- [2] C. Byme, A unified treatment of some iterative algorithms in signal processing and image reconstruction, Inverse Problems, 20(2004), 103-120.
- [3] A. Genel and J. Lindenstrass, An example concerning fixed points, Israel J. Math., 22(1975), 81-86.
- [4] K. Goebel and W. A. Kirk, A fixed point theorem for asymptotically nonexpansive mappings, Proc. Amer. Math. Soc., 35(1972), 171-174.
- [5] T. H. Kim and H. K. Xu, Strong convergence of modified Mann iterations, Nonlinear Anal., 61(2005), 51-60.
- [6] T. H. Kim and H. K. Xu, Strong convergence of modified Mann iterations for asymptotically mappings and semigroups, Nonlinear Anal., 64(2006), 1140-1152.
- [7] P.K. Lin, K. K. Tan and H. K. Xu, Demiclosedness principle and asymptotic behavior for asymptotically nonexpansive mappings, Nonlinear Anal., 24(1995), 929-946.
- [8] K. Nakajo and W. Takahashi, Strong convergence theorems for nonexpansive mappings and nonexpansive semigroups, J. Math. Anal. Appl., 279(2003), 372-379.
- [9] C. I. Podilchuk and R. J. Mammone, Image recovery by convex projections using a least-squares constraint, J. Opt. Soc. Am. A7(1990), 517-521.
- [10] S. Reich, Weak convergence theorems for nonexpansive mappings in Banach spaces, J. Math. Anal. Appl., 67(1979), 274-276.
- [11] J. Schu, Weak strong convergence to fixed points of asymptotically nonexpansive mappings, Bull. Austral. Math. Soc., 43(1991), 153-159.
- [12] M. I. Sezan and H. Stark, Applications of convex projection theory to image recovery in tomography and related areas, in: H. Stark (Ed), Image Recovery Theory and Applications, Academic Press, Orlando, 1987, pp. 415-462.

convergence of CQ iteration for asymptotically nonexpansive semigroups 271

- [13] K. K. Tan and H. K. Xu, The nonlinear ergodic theorem for asymptotically nonexpansive mappings in Banach spaces, Proc. Amer. Math. Soc., 114(1992), 399-404.
- [14] K. K. Tan and H. K. Xu, Fixed point theorems for Lipschitzian semigroups in Banach spaces, Nonlinear Anal., 20(1993), 395-404.
- [15] K. K. Tan and H. K. Xu, Fixed point iteration processes for asymptotically nonexpansive mappings, Proc. Amer. Math. Soc., 122(1994), 733-739.
- [16] H. K. Xu, Strong asymptotic behavior of almost-orbits of nonlinear semigroups, Nonlinear Anal., 46(2001), 135-151.
- [17] D. Youla, Mathematical theory of image restoration by the method of convex projections, in: H.Stark (Ed), Image Recovery Theory and Applications, Academic Press, Orlando, 1987, pp. 29-77.
- [18] D. Youla, On deterministic convergence of iterations of relaxed projection operators, J. Visual Comm. Image Representation 1(1990),12-20.